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T T I EESAT: 18 ) [ 39 qf%a 7 it wemn : 11

Total No. of Questions : 18 ] [ Total No. of Printed Pages : 11

Subject : Social Science
TG : 3902 | | [ quts : 75
Time : 3 hotirs ] [ Maximum Marks : 78

Note : Attempt all questions.
R : () I FHF 1 IS T § 1 @ 1 gug §—aug (),
TUE (F) @GS (F) | @ve (31) ¥ sgfaswedia yw, @ve
(%) ¥ 3feaq deiy ey w@ wve (7) F fma wm = gfd
} Gafim 37 &) 7% @ § 5 7 ¥ a9 voE T W 1
3 rEfea 21

parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5§ questions.
Each question carries 1 mark.
-1 (Wue-3t) 98 fase g fafac [1x5=5]
(Part-A) Choose and write the correct option :
() =fafas ¥ § sF-g1 donE aqa fAfifa & 2

(3) &= (@)
(®) = (?) =M
Out of the following which resource is man made?
(@) Air (b) Water
~ (c) Forest (d) House
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F2g g9 T fF e ®

(3) wwRH

() faum ww H

(7) faum ofeg &

(3) 77 @ T

Central budget is passed :

(a) inParliament

(b) in Assembly

(¢) in Legislative Assembly

(d) None of these

9 Hi TG F T @

(37) FERA

(7) TR

(7 g

(3) *i9

The name of the Sansad of Russia is :
(@) Lok Sabha -

(b) Diet

(c) Duma

(d) Congress.'
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(iv) e M Haifea 9

)

(o) fag |

(&) Fmeeaan §

(7)) ToSfvmE 4§

(3) 9Raq

Colonel Nasir was related to :
(a) Egypt (Misr)

(b) Yugoslavia

(¢) Indonesia

(d) India

et a1 v ek St &

(3 9 e T8 F

() 3 ¥ e Tl

(%) F PuIfeT & 9

(3) 9 9% MR Tl Tig I

Those whose purchasing power is less :
(@) do not take food

(b) do not purchase food

(¢) become malnutrition

(d) cannot purchase nutritious food

S-3A

hitps:/byjus.com

P.T.0.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

(G EAELR

(41
-1 (Ovs-w) fan weey Sifga [1x5=5]
(%) (@)
() fazd v - (8 W wnd
(i) Taspr FXH diewen - (F) 92005
(i) ST 1 StenEiERT - (%) Tl R
(iv) TH.GI.3TE. - (F) HNQ WIS Jard
(v) gEn s AR Afufm - (3) WE A
(Part-B) Match the following :
(A) (B)
(i) Soil pollution - (@) Minimum support price
(ii) Sales tax scam - (b) Year 2005
(iii) Industrialisation of Germany - (c¢) Chemical fertilizer
(iv) FC.L - (d) End of labour organisation
(v) Right to Information Act - {e) Stealing of tax
-1 (@ue-) fea s | gfd sifag [1x5=5]
(Part-C) Fill in the blanks :
(@) v H — yft =1 fawar weE T @
In India land expansion is not possible.
() T R RGN — F GeE F T F w1 F o €
"Coal is used as a mean 6f 7 '_ on earth.
(iti) T ffeT 99 1 oY — & 9% gem
The starting of colour printing press was done after .
S-3A. ¢
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(C EACERN

-

Fder

(5]
(iv) WA Tacis — i & e 91

Lokmanya Tilak was the editor of ___* magazine.
(v) — % SRU TAR WAYA H Sede o wive §1 e ¥

Due to the poisoning has been added to our food.

: (9) WA HEE 2 A 6 g AfderEedd v ¥ ydes W W
2 3 arfed &1 (IW N sAfishan wx-dw 30 v ¥)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

https://byjus.com

wgt-2 T @ o @ v €2 [2]
What do you mean by development?

Wg-3 A o fR wRd €2 (2]
What is called crop circle?

UYT-4 TR & 5 YR F U Y Afys o S e A ¥ 2 2]
By which tyﬁe of tax the government get more incomg?

wWA-5  SuRRvER Fd? 2]
What is colonialism?

Y-6 WA ¥ Tigc SUES &F Fay (X @) | [1+1=2]
Write E:oal-producing region in India (any fwo).
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[6]
: (W) 7 % 7 ® 10 ww AvEeia v ¥ v@w v W

3 3% wifea ) (IW w1 fywan ve-dm so v B)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

-9

wm-10

Each question carries 3 marks. (Maximum word limit of

answer is 50 words)

e # wify & ferg Frowetetw s =i wry gen ? fafag) [3]

Why was the Disarmament Movement for Peace started in Japan? Write.

Afer v Aiftem W9 w1 o vyl 1 w0 avE 9
(wg @) ? [1+1+1=3]

What was the effect of the competition between the US and the Soviet

Union on Vietnam (any three)?

IR e YW e & W v a fafen [1+1+1=3]
Write three positive effects of language-based state formation.

Ardimcn ¥ B2 v W WR-BR @ TR e FEn T

. ¥4 [3]

What are the challenges that small producers face from

globalization?
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Fdr : () TEHAE 11 ¥ 14 75 ST T T 1 7% 99§ i
fawey ¥ 1 98T W R 4 3w @t 1 (IW F Al
v=-d 75 v })

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)
wA-11 agEr ¥R aft Tgem d e wn sim e ¥7 fafay
(% W) | | [1+1+1+1=4}

What differences do you see between nationalism and extreme

nationalism? Write (any four).
3791/ OR

firzer @i T armee § w-w gaFard of 2 fafay (F ') |

! What were the similarities between the dictators Mussolini and

Hitler? Write (any four).

wv-12  Fritra g9 T ¥ Wia @ o % g SwEm (2011) wefE e

T | 39 R w1 R HY AR Wy F IR [1+1+1+1=4]

3]
L L i
" I i
sl soxi = I

3]

*ft 37T ; gty

vty 3w : wrew

(37 W H e S us ¥ 1R it o afvea afws ¥ 2
(%) fFammR AR PR s N d sdeg dwa t?
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(&) WRA ) gor § oiag § Ry v 3 4fE & i g e ?
(3) SR A X Her-3tent yfy i ufavE St 3 wRa § 99 # 2

The following Pie charts are showing the use land of India and of
Chhattisgarh (2011). Seeing these charts answer the following

questions :

(@) For which type of land the percentage of land is more in

Land Use : Indla

[8]

Land Use : Chhattisgarh

Chbhattisgarh state than India?

(b) For which type of land the percentage of land is less in

Chhattisgarh state than India?

(¢) For which type of land the percentage of land is double in

Chhattisgarh state than India?

(d) Which two different type of land have equal percentage in

Chhattisgarh state and India?

ﬁtﬂiﬁmmﬁgﬁﬁﬂmﬁam%tmmﬁ{amwﬁﬂmgﬂ

37441/ OR

o e & 2 38 erot STR-gfee # arfernt SR W

w. | wfe firget =t I
1 |F=R _
2 |fwEm _
3 |qfdsR _—
4  |nita %t wfewn —_—

Forest land

Instr

S-3A

hitps:/byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@BYJus

(91
Some names are given in the table. How do they use soil? Fill in

your answer book in table form :

Sl No. Persons Use of soil
Potters

Farmers

|
2
3 Artisans of Sculpture
4

Women of Village

WPH-13 SO ¥ SIS TR fe HQ STl ¥ 2 wmmu (A W 1 [1+1+1+1=4]
Explain how census data is useful for us (any four).
991/ OR
S faede W & fae o 7, 59 ? 9Rase (i W) |
Explain how population explosion is deadly for society (any fowur).
wi-14 I @t 9y F9 g 2 30 9y @ viE ol e-sR o of 2w [1+43=4)
When was the Treaty of Versailles took place? What were the main
terms of this treaty? Explain.
37gq1/OR

vuq fava 4% % Hig IR HR A | [1+1+1+1=4]

Write any four reasons of First World War.

Adr : (3) W FiE 15 Ud 16 SHSwE YA & | udlE W H STaftes
foweq ¥ 1 7O U9 W 5 % sEifen § )1 (I & s
- 700 ¥=5 ®)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks, (Maximum word limit of answer is 700 words)

Wy-15 {31 ¥ YA ua onyfie ey = feogeit fafaw [2V4+2Y5=5]

Write a note on the ancient and modern structure of currency.

it
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Uei-16

et

[10]
it areraT/OR

0 =) G O 3R AR A g H ek gt §, o gud o el
¥ Wt § At &, HY 2 S | Wy | [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
Trefor SAfETe ok TG e @ qor RN (FE @) | [1+1+1+1+1=5]

Write the differences between rural settlement and wurban
it

settlement (any five).

HYET/OR

vOFTIC
MR

T afuardl # St 1wt 0 T FRe fafae (RS are) |

Write the factors influencing the origin of urban settlements (any five).

T

: (%) mami%\wqéw?ﬁéﬁﬁaw%lmmﬁmﬁm
foarrea &1 wl® W T 6 3iF oTEfed €1 (S & At
w=-d 150 v ®)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

- Each question has internal option. Each question carries

6 marks, (Maximum word limit of answer is 150 words)

UyT-17 W%ngqﬁlaﬂﬁrﬁ‘fcﬁHW'aﬂmﬁﬁm [1+1+1+1+1+1=6]
Explain the powers and f‘Jnctions 'lo.f President of India.
- rAVOR
firated () TR % O vl a1 v e Ff
Write six functions of the -Eléci;i—t;)h éotniniésion and explaiﬁ.‘
S-3A- o
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(1]
We-18  Hacwl fFA-foh SRl @ waqe whed § wm T8 ad ? e s
(% ) | [1+1+1+1+1+1=6]
(5] | Explain for what reasons voters do not participate in the voting
process (any six).
37erat/OR
125] " SrEdd H Hred T w1 sifusR s ¥ 1" Wiea & wew ) el =
fagatl ¥ v wifaq)
“The right to form an organization is essential in a democracy.”
* Explain the importances of organization in six points.
14+1=6]
S-3A
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T TE B WA : 18] [ Fa qfsd g =t €@ : 11

Total No. of Questions : 18 ] [ Total No. of Printed Pages : 11

J-201300-B
fawa ; wiea fagm
s Subject : Social Science
a3 9 | [ qui®: 75
Time : 3 hours ] [ Maximum Marks : 75
e : |t WY F g |

Note : Attempt all questions.

fder : (31) I HEF 1 S T 31 3EE O @ve E—wuE (),
g (9) T3 @UE (W) | U8 (H) H sgfashedd 9w, @S
(%) ¥ 3fa way WY w6 @ve (W) § Rea wE & O
4 dafd w1 ¥ 1 7S gve # 5 W ¥ a9 TEE I W
3t omefed ¥

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

-1 (Tus-3 ) UEl fasew g fafay [1x5=5]
(Part-A) Choose and write the correct option :
() USHeEH Em? ,
(37 @ (9) tgI| -
(§) wiews (3) <ie v
What is Endosulfan? o
(a) 0Oil (b) Drinking water -
| (¢) Insecticide (d) Iron
S-3B PI.0.
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(i) EE Shifd 1 AaT o1
(3 wafem
(7 feew
() Afm
(7) W Frepierd
The leader of the Russian Revolution was :
(@) Stalin
(b) Hitler
(¢) Lenin

(d Czar Nicholas

(i) MAGE® -
(37) A-TA &
(@) Tftew 3%
(7)) = a &t foafy
(3) A o 4%
The Cold War is :
(a) Face to face war
(b) Guerilla war
(c) Tense situation

(d) War in the sky

S-38i
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[31]
(v) @ wifd ¥ FEA IURA g

(37) S+
() <=
(H) R &
() WA
Crop production of ___ grew by Green Revolution :
(@) Jwar (Sorghum)
(b) Millet
(¢) Com
(d) Wheat
(v) wifa & fee e F T IRT R -
(37) I& H A
(&) e
(9) T - R AR
(3) IugF w+ft

The main aim of Peace Movement 1s :
(a) stop war
(b) disarmament

(¢) ban on atomic weapons

(d) All of the above

S-3B
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-1 (wvs-w ) 3fEa v sfeu A - [1x5=5]
() (&)
(i) = @ faweg - () Tk IR W
(i) WEuw - () =Es fEa
(iii) = Sre Hrgo - (§) T
(iv) Tz, fheres, e ~ (]) Gl ! ST FHAT
(v) IR YR - (3 EfEEE
(Part-B) Match the following :
A (B)
(/) Alternative of coal - (a) on production of goods
(i) PD.S. - (b) commercial groups
(iif) New Deal Declaration - (c¢) atomic énergy |
(iv) Doctor, Teacher, Employee - | (Jj providing foods
(v) Excise duty - (o) by America
-1 (@ve-w) faa s #t gid wifs o [1x5=5]
(Part-C) Fill in the blanks : | |
() vRdtm Yo o S el wun ufe —— of )
The first Indian language magazine was . -
() o 1 3 @ = R — et St H e e
People in rural area require ____ calories'of energy: daily.
| (i) WTPR it AF-o99 F fqaon ——Feard1
Details of the government’s revenue-expenditure are inthe .
S-3Bd q
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[ [35]
(iv) T Bt g gy — yf et &

The land left without use is called )

(v) W@ ¥ Yzl fhew S wed wied = 9 4, g ™ — 9

The first film in India was made by Dada Saheb Phalke

whose name was .

fder : (F) ¥E FEE 2 W 6 o Afdagswid v ) T T W
2 37k Eifed €1 (I & tftrem wg-dimn 30 vig })

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

U2 SN T R R ? 2]

What is consumption expenditure?

uy-3 IR R wE fraia | siae fafa) [1+1=2]

Write the difference between import and export tax.
WyT-4 4G e & o W fafaq [1+1=2]

Write two names of Zayad crops.

WYF-5  ESET 3% 9= HE gal ?

How was the country of Nigeria born?

W6 SaHadFmAEdE?

What is meant by energy?

hitps:/byjus.com
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Frdor : (W) Yo %A% 7 9 10 7 sfyerEady w7 ¥ v W R
3 3w Eifed €1 (IW H Afuswhon. I=-d9m1 50 = ¢)

Instruction : (C) Question Nos. 7.to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

-7 WO H WO el Ft aar e 4t ? | [3]
What was the role of atomic weapons in Cold War?

-8 Frmfiil srier it faarw i [3]
Give details of Niyamgiri Movement.

wwn-9  Avdiero 3 aftrl & faw o R YR wuifaa frar d 2 [3]

How has globalization affected the lives of workers?

W-10 . VT SiTE g WENvee @ s 3 3 s fafa) [3]
Write reasons why Dr. Bhimrao Ambedkar resigned from the Cabinet.

o : (%) mmnﬁmwwﬁwmﬁlmmﬁm
fawe € ) W@ T W 4 3w sifen ¥ (T F Afusow
-1 75 7E ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)

wWA-11 Yo v 43 & F = ww fafiaw) [1+1+1+1=4]

Write any four reasons of First World War.
374aT/OR

T F i iR e W FA-FR @ i 2 wwme [1+3=4)
When was the Treaty of Versailles took place? What were the main
terms of this treaty? Explain. -

S-31§'
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[7]
wva-12  Freifea wfemn § Fo W g e # 13 g fired) &1 s fhe waR
foram st & 2 3R art Ia-yfee o aifers TR WY [1+1+1+1=4]
®. 9 " v ezt =1 Swdm
1 |$F=1 _—
2 |fREm _—
3 |HffwRr _
4  |ifa = wfen _

Some names are given in the table. How do they use soil? Fill in Your

answer book in table form :

SL No. Persons Use of soil
1 Potters
2 Farmers
3. ] Artisans of Sculpture
4 | Women of Village
3qr/OR

ﬁnﬁawmﬁﬁm@m%t@m(zoﬂ)wﬂhﬁm
T ¥ | 79 9 T 3T B SR G v F I

(3 wa ®! gon B wheR T A fRw oyt @ v
Afr &2

S-3B P.T.O.
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(8]
(%) 58 woR # 9 w1 Woum wRa & e W s A
wHE?
(7)) vRa # gorm ¥ ouag § few wer @t 9ft w1 i
T d?
() M-8 @ A-3er g w1 vfvm SEog § W H
WA E?

The following pie charts are showing the land use of India and
Chhattisgarh (2011). Seeing these charts answer the following

questions :

Land Use : India Land Use : Chhattisgarh

(@) For which type of land the percentage of land is more in
Chhatti;garh state than India?
(6) For which type of land the percentage of land is less in
" Chhattisgarh state than India?
() Por which type of land the percentage of land is double in
Chhatﬁsgarh state than India?
(d) Which two different type of land have equal percentage in
Chhattisgarh: state and India?

S-3B
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WA-13  SEOMT & SfnS e fou 0 swinht € 2 99emRe (S 0 | [1+14141=4]

Explain how census data is useful for us (any four).
U/ OR
T faedle TS ¥ o e €, $9 2 gWsEn (FHE W)

Explain how population explosion is deadly for society (any four).

AR

W-14 feer 3R gafedt oo d wn-wn wwead of? fafaw

(HE T | | [1+1+1+1=4]

What were the similarities between the dictators Mussolini and

Hitler? Write (any four).

HIAT/OR

TR R afy TwEr ¥ oamewr @ SRR REw £ fafaw
(FE =77 |

What differences do you see between nationalism and extreme

nationalism? Write (any four).

fdr : (3) T FU® 15 & 16 TEHIN0Y TH € (98 A § Al
foaded T | T% WA W 5 3 MEfed §1 (S #Y Afepan
-9 100 W ®)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has intprnal option. Each question carries

5 marks. (Maximum word limit of answer is 100 words)

WA-15 T ST it T A ) ger S (S e | (11115

Write the differences between rural settlement and urban

settlement (any five).

S-3B
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a¥i-16

et

[10]
37era1/ OR

T Sl # seata g F A FRE faran (FE we) |

Write the factors influencing the origin of urban settlements (any five).

H01 1 G T iR TR o7 g ¥ gErs € €, o gud sl
F et § hEr dt ¥, 9 ? ISR § wuEE [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
37T/ OR

TR o YA TE snyfTe ey W feuoft fafag) [2V5+2V4=5]
Write a note on the ancient and modern structure of currency.
: (W) W Ui 17 T 18 3w 9 § 1 99 W9 | i

fawe 1 yAF W W 6 3w IMEifed § | (I F Afeeman
qe-dr 150 9= ¥)

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is /50 words)

wg-17  wag fR-fe wrel @ aaee wiEe § am 18 a2 e wifeg
(FE &) | [1+1+1+1+1+1=6]
Explain for what reasons voters do not participate in the voting
process (any six).
&/ OR
" A § IS M A AfER S ] 1 e &% wew i Rl B
fagall # T wifs
“The right to form an organization is essential in a democracy.”
Explain the importances of organization in six points.
S3B " -
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[11] l
wy-18 e (Y1) 9N & ©: S/l &l fa@st e Sifweil [1+1+1+1+1+1=6] '

Write six functions of the Election Commission and explain.
3reraT/ OR ‘1
(5] I o Ul I il 9 FHal i A HiT |

Explain the powers and functions of President of India.

)Y4=5] ‘

=6]

— . ———m L mem wm ~

S-3B % |
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JaE: 11 LI O OO SO TS PO USSP PPN
ROIINO. & ettt e e

T W B GE: 18] [ F& gfsa gt ) €@ : 11

Total No. of Questions ; 18 ] [ Total No. of Printed Pages : 11

J-201300-C
fawa : wrmfses fagm
Subject : Social Science
g : 3que | [ gt : 75
Time : 3 hours ] [ Maximum Marks : 75

Tz . Tt we g wif)
Note : Attempt all questions.

o : (3) ¥ HHw 1 a8 ¥1 T 38 a1 gvs ¥-mug (39),

Instruction : (A)

Tug (§) T& G () | @ () | agfawmedia v, @vg
() ¥ fea day Sifew @ @ve (W) A faa wr =5t gid
¥ Haifim yo7 & | 7o @og H 5 e § au YhE TR W1
37 mEfe B |

Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

-1 (@us-37) Hel fasey ga fafan - [1x5=5]
(Part-A) Choose and write the correct option :

() T Q@ HIT TeHOT GEreE T R ?

(&) HR 3 () T el

(%) I (3) wiaan

Which of the following is not a renewable resource?
(a) Solar energy (b) Wind energy
(c) Water (d) Coal |

S-3C

P.T.Q.

hitps:/byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@ByJus [2]
(i) Trofatas § | SF gean 9ug F1 e 939 11 8 ?
(81 smfE
(%) st
() &9

(3) faem

Out of the following which is a permanent member of Security

Council?
(@) America
(b) Germany
(¢) Russia
(d) Britain
(iif) ] 1 whifa 1 ad o1
(31 1905
() 1906
(9 1917
(?) 1918
Year of Russian Revolution was :
(@) 1905
(b) 1906
(¢) 1917

(d) 1918
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[3]

(i) F=NE Sore ifta fopan s #

V)

(o7) WWRH

() faammawd

(%) faum afteg #

(3) T @ FE =T
Central budget is passed :
(@) in Parliament

(b) in Assembly

(¢) in Legislative Assembly
(d None of these

YR i JoH TR B -
(37) faum san 3R
(7) Hal

(&) Tl

(%) TR™ A sfvean

The first magazine of India is :

(a) Mirat Dall Newspaper
(b) Kesari
(¢) Digdarshika

(d) Times of India

§-3C
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-1 (@uE-u) 3t sy Sife [1x5=5]
(%) (&)
() ofa dadA - (9 fove w@re s
(i) SfeRATEE @ I - (%) "
(i) e - (F) R e
(v) WH.O. - (D) ﬁ?{ﬁqﬁm
(v) Feef | genfertt - () ofE wEE SR

(Part-B) Match the following :

(A) (B)
(/) Land improvements - (a) World Health Organization
(ify Obtained from bauxite - (b) Marconi
(i) Radio - (¢) Fascist Party
(iv) W.H.O. - (d) Aluminum
(v) Mussolini in Italy - (€) More crop production
-1 (@ue-|) fea wmi & gid S [1x5=5]

(Part-C) Fill in the blanks :
() s ganm — gr fAfda 2
Biological resources are produced by .
() TR Y T E wE — 9 % freg on
The Struggle for Independence of Indonesia was’ against the
_____country.
(5i7) FamR § ‘ffew’ 3@ W A e — FEME |

The tax imposed in cinema hall is

83C
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+

Fder

[S]

(iv) SR U — 2 | Heifuw ¥

Labour Party is related to country.

(v) SURIG B —— FT F G A E |

Chhattisgarh is known as bowl of

: (W) szﬁ6ﬁﬂﬁlﬂgﬁﬂﬂm'§lmmﬂ
2maﬁﬁa%|(wﬁaﬁﬂmwm-msom%)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questlons

Each question carries 2 marks. (Maximum word lumt of

answer is 30 words)

fagat oy #1 gfie @ Feva % T e € (A @) 2 S [1+1=2]

we-2
What are the symptoms of development in terms of daily wages
worker (any two)?

w3 sawrafRdwE? SRR 1z
What. is Gréen Revoiutiori? | j o |

UP-4  HIHR a9 § 991 9E & ? e S )
What is the government budget‘?

wA-5 A W ad ) . - (2
What do you mean by E—z_l_liction‘? | ,

U93-6 mmmﬁmaﬁaﬁWWQ(aﬂi g ? . - [1+1=2]
In Indian Nationalist Movement which group of people played
important role (any fwo)? e

S—3 C. | } ”.P.T-.’Os
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: (W) WA w7 ¥ 10 7% eyl v ¥ vew T W
3 3% Eif ¥ (S Y sifuway we=-dhw so = )

Instruction: (C) Question Nos. 7 to 10 are very short answer type questions.

WeT-10

et

Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

T UMY T@ @aw <9 § &g 6 i fafay) [1+1+1=3]
Write any three differences between a colonial and an independent country. |
fir e faret R-qoy T & WA-F1 Y sEa ¥ (AE @) 2 [1+1+1=3]

What opportunities of equality for Men and Women are given by the
Hindu Code Bill (any three)?

T 99 § TN 91 YaEE IHaE & 9) § fafag (9 @) [1+1+1=3]

Write about the terrible destruction done by atomie bomb (any three).

e /T ¥ ? aEEEY) (3]

What is Liberalization? Explain.

: (F) WEHHIE 11 ¥ 14 7% a=ad W €1 9% ¥ § i
fareq ¥ WF WA W 4 i aAeifen €1 (I A Al
w=-dm 75w ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)

wr-11,  Freifea wieem § 3o am R e #1599 g et 1 3w foem wan
| e <t & 2 T8 1o R-yfieen o ifers st Wl [1+1+1+1=4]
w® | =t | e s
1 |emw - _—
2 | fwEm -_—
37 |HqffER —
4 |t e S
$3C
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Some names are given in the table. How do they use soil? Fill in your

answer book in table form :

ﬁwiﬁﬁrqaaéﬁmq&ﬁm%s;ﬁrs@n(zon)mm
T 179 A Y g ol G v R s E

(3 WG # g A o T™ d fEw qft W faew

s & ?

(%) fFE TR @ qff W TRE aRa R ge § sHeg

FTHR?

(¥) Ta F o § sdwr A fF yeR w1 gt & ahew

TR

(3) #H-9 Q sEm-em g w1 wiva SHw 9 vRa A

gaA R ?

SI. No. Persons Use of soil
1 Potters
2 Farmers
3 Artisans of Sculpture
4 Women of Village
3r44q1/OR

[1+1+1+1=4)

S3C

hitps:/byjus.com

P.T.O.


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@BYJus

(8]
The following Pie charts are showing the land use of India and uea-
Chhattisgarh (2011). Seeing these charts answer the following

questions :

Forest land

Land Use : India Land Use : Chhatﬂ(}l:::: - -
(a) For which type of land the percentage of land is more in
Chhattisgarh state than India?
(b) For which type of land the percentagc of land is less in
LY s :Vﬂ;il_arhstatethan India? s : £
(c) For whigh type of land the percentage of land is double in

(d) Whlch two different type of land have equal percentage in
Chhattlsgarh state and India?

wg-12  feeem @R AR aeRme W w-wm @wead off 2 fafag

(i &) | o [1+1+1+1=4]

What were the sumlarltles between the dlctators Mussolml and
Hltler‘? Write (any four)

S FIF/OR
Tgag AR g tgar § o w iR femar &2 fafau
(F T |
Whet differences do you see betWeen nationalism and extreme

nationalism? Write (any four).

$-3C
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w-13 Yo fava g & 6t 9w ror fafiau [1+1+1+1=4]

f Write any four reasons of First World War.
a1/ OR

Fata #1 wfa e g8 2 39 Wi %1 ygw o FA- o off 2wy [143=4)
When was the Treaty of Versailles took place? What were the main

ot lan terms of this treaty? Explain.
UET-14 SR % SRS TR Y R Sw €2 owemn (fE W) | [141+1+1=4)
Explain how census data is useful for us (any four).

NG/ OR

SEE faewe e % fou o &, 59 2 gnemEn (98 9 |

Explain how population explosion is deadly for society (any four).

foea ® | W% W99 W 5 3iF ovefed €1 (W H aAfuswan
T=-Em 700 W= ¥)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word limit of answer is 700 words)

|
Fdor : (3) 9T HAE 15 T 16 TEHITHE 9 §F | u2F g1 o on=fE
l
|
|
i
|

W¥F-15 0T bl Fiaun T S T A ae | wers g €, 5 gud el a
¥ A | HE A 2, F ? TSR § AHHR | [5]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
3eraqr/OR

TR % Y T yfieh Wy W feoef fafeg [2Y2+214=5]

Write a note on the ancient and modern structure of currency.
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Fdr

[10]
Ty Afiardl @ Iafa W uwfam w9 9 e fafau
(3 wher) | [1+1+1+1+1=5]

Write the factors influencing the origin of urban settlements

(any five).

T/ OR

T sifteme siiR T sifiar it qen Sl (i ) |

Write the  differences between rural settlement and wurban -

settlement (any five).

: (W) TN HHF 17 T 18 a0y w97 T ) 78 799 H i
faFer &) Tl T W 6 A% oAdfed ¥ (S W sifuswaw

wez-Hwmr 750 o8 ¥)

Instruction : (F) Qﬁestion Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is /50 words)

w-17 et (FPE) S % B FRi R fAE s #1141+ 1+1+1=6]
Write six functions of the Election Commission and explain.
37YqT/OR
I 3 T W R e HR
Explain the powers and functions of President of India.
$-3C
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ve-18
+1=5]

1=6]

[11]

“ Hihds T HST 99 1 AR I8 € 1 G916 % ugd @ T B
fagati § wre wifsw ) [1+1+1+1+1+1=6]

“The right to form an organization is essential in a democracy.”

Explain the importances of organization in six points.
Hear/OR _ ;

g for-for ol @ 9agE giear T 9 9 @d ? W S
(3% &) |

Explain for what reasons voters do not participate in the voting

process (any six).

..........
-
-
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